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Answer GvidL

Please attempt all questions without a calculator.

Year 11 — Paper 1 Revision Pack

(Foundation)

Friday 20" May 2021 - AM

a CORBY .
@ - lechnical
School

How to use this revision

1. Review the list of topics that will appear on paper 1 of the summer exams. This can be found on the next page.

2. Work through the revision pages for each of the topics that will appear on the summer exams.

3. Use the electronic mark scheme to check your work and identify areas of weakness. The electronic mark scheme can
be found on Teams and Satchel One.

4. Follow up with either:

A. Using the Hegarty Maths Clip Numbers to watch video tutorials on areas of weakness. You should then
complete the quizzes on Hegarty to test whether you have closed your gap in knowledge.

OR

B. Follow the link for Maths Genie Exam Practice and search for the pack of questions relating to each topic (Mark
Schemes Provided)

Each of these options is clearly labelled at the bottom of each page of revision.

5. You can also access whole past papers at https://corbettmaths.com/2022/02/28/edexcel-gese-foundation-summer-
2022/ You should select Advanced Information — Paper 1 (Set A and Set B)

6. Email your class teacher if you have any questions or require further resources. Email Mr Lee if you need help during
the school holidays.
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Non-Calculator

Section A:

Number

Arithmetic

Fractions

Properties

» |

Standard Form

Number {*see Ratio - some overlap of topic areas)

Money

Negative number

Order fractions, decimals, percentages

| Place value

| Product of prime factors

| Fraction of an amount

| Fraction arithmetic

Conversion

Calcufation

and Esti
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Money

How much would it cost for 16 oranges? How much more does one orange cost than
one lemon?

£7.20 25p

A bag of 5 ismona costs £1

A bag of 4 orangua conts C1 80 k £1 {_

e

For my recipe | need 30 lemons and 24 The shop has a delivery of 130
oranges. oranges. How many bags an they
How much will they cost altogether? fin?

£ {6.80 A2

AT gty mat hs KETER

Negative Number

Work out Work out
—S5+4: —| -5x4: =20

—5-4: -9 —5x—4: 20
3-9° -6 -72= 49

— — (=2 - = 3
12 —(=2)= =i0 (-2, -9
Work out The tabke shons fhe Seonperanse ia four ities ua » dey in Jeruary
= -
Loadoo 1°C
-25 +5+- - g New York 2%
Tokyo $°C
o 4C
{01 Wrie o e e of o ey i e bt e, 0S8 0
_25 +_5 > 5 (b) Wark aut the doflerence hetwovn the tempershare i New York asd .
the \ampamare m Tokyo. 7 (-3

The ncat dary dhe omperatere i New York mxaessal by 3°C. LY
(s} Work out e new kevoporsture i New York, I

Clips 37-44 | https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics.fitm|
FOLLOW-UP WORK hegartgmaths L i Negative Numbers
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Ordering Fractions, Decimals & Percentages

Convert the following to decimals: Convert the following to fractions:
56% 0.56 5% 0.05 067 67/, 007 oo
2 0.9 7o .35 5/
10 20 56% &AOO 5% (876
¢ i4fs = l/ZD

Convert t [ : . . . .
he following to percentages Write the following numbers in order of size.

. Start with the smallest number.
0.67 67 4 007 7~
5% L ol o9 4
10 ¥ 5
9 V4 7 354 Lz o072 7 4
10 90 20 10 ¢ 72,75 1/510-9

Clips 52,55,73- 1 https://www.mathsgenle co.uk/gese-may-june-2022-foundation-togics. html
FOLLOW-UP WORK hegartgmaths 76,82,83, 143 ! Fractions, Decimals & Percentages

Fraction of an amount

Find 3/4 of 28. Increase 28 by 3/4

2! 49

3/4 of x is 33. Find x. 3/4 of x is 12. Find 5/4 of x.

44 ”

- f/www.mathsgenle.co.uk/gese-may-|une-2022-foundation- :
FoLLow-up work [NEISEIRAVINEIE] Clip 77 | Hiinsumathsiene.cou/pesemoriune-2022foundation-tonics
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Fraction Arithmetic

i
23 12 23 12
%17 2ty
=99 . 3!2 :—-—\HB = -
3 2 3 2
21—1; 2—+1=
LY
2y i

l:ﬁ S https:/fwww.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics.html
ATl hegartymaths B R

Place Value

Write down the value of 6 in the number 4654 Write down the value of 6 in the number 304.6

600 0.¢
Write down the value of 6 in the number 6054 | Write down the value of 6 in the number 105.06
6000 0 .06
Hare are 4 oumber cards.
Write down a 5 digit even number that has 3 in [s1[7]121]3]
its thousands digit. ) I .
You can only use the digit 3 once!m stend wmmmwmuwum:r 753

(b) Asrunge the cards © give the smallest possible answer to the sur.

3 0,2, ¢,60" —
_ _— Jut L—Z‘ a8 B
. o 4]
-7
FOLLOW-UP WORK hega rtg maths C|ip5 13,45 ! hsgenie.co.uk/gese-may-june-2022-foundation-topics. htmil
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Product of prime factors

Express 50 as a product of prime factors

50 = 2 x5

96 :st3

Express 96 as a product of prime factors

Crouiow e won [ISEHOMEGH

Given that 40 = 23 x 5,

Express 80 as a product of prime factors
23xSxA = P xS
Express 400 as a produdct o prirr&e factors
2>xSx 0= ZI'NS

What is the smallest number you can multiply

' Prime Factors, HCF & LCM

Given that 20 = 22 x 5,

20 by to get a square number?

S

J/fwww.mathsgenie.co.uk/gese-may-june-2022-foundation-topics:html

Standard Form

Write the following in standard form:

47 000 000 4 -F x o7

300300 3-003x%\0°

Write the following in ordinary form:
45 x 108 450009000

2.003 x 10* 20030

SOOI hegortymaths

0.0007 7>¢|o‘4 2 x107° ©9.00002
S
45 x 10¢* 4-Sx\0
Work out: Work out:

(4.5 x 107) x (3 x 10%)
(-35 x 0%

(45 x107) = 3% 10%) = {.5 (0>

Clip 122-127

htt

(4.5 x 105) + (3 x 10%)
4.3 x o}

s:ffwww.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. html

Standard Form
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[ ) [ ]
Estimation
a.What square numbers does V40 lie between? Estimate:
36 ond 49 3.54 x 105
b. Estimate V40 2.3
.5 o
baehyuetn 8ond 6-5 o &2alO {9200
1
Estimate: Mark gets paid £8.23 per hour.
Each week Mark works 42 hours.
31 x 46 Estimate how much money mark gets per week.
0.496 09 320
£ 3000
Is this an over or u er snmat?E in
(fof— L0 MJ@D@O\M’!
5 SgEel I = -2022- ation-topics.
FOLLOW-UP WORK hegartg maths C'lp 131 ! Eztt:]m:t:o:rw mathsgenie.co.uk/gese-may-jiune-2022-foundation-topics.htmil

Section B: Algebra

Algebra |
Manipulation ' Simplification -
Substitute values
“Equatlon_sand Inequallt; o - .Llnear inequallty -
|
Quadratic equation
“Gvaphs- . Quadratic graph |
Sequences . Linear sequence
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Simplification

Simplify:
at+at+ata=4a
axaxaxa: OF
3xax2xb: Cob

2
3xax2xaz 6Q

Simplify:
a—2a+6a = 5o
2a+3b+4a+b = 60 ¢+ ¢b

2a—3b—4a+7b=_ 10.4.4'6

IO hegartymaths

Simplify:
a?+a?+a? = ol

7ab + 2ab —3ab = Gob

17351748

Clipsi156-159,

Simplify:

3x + 5x

7 " e

https://www.mathsgenie.co.uk/gcse-mav-june-2022-foundation-tapics.html

! Simplifying Algebra

Substitution

If a =4 and b = 5,work out:

If a = =9 and b = 3,work out:

ETERERR hegartymaths

a+b = g at+b =z-6

3a+2b= 22 3a+2b : —4j

a?2—b = ?=b : 5y
Whena =5 and b = —2,work out v=u-+at:

2a> ¥ 6o
b2 +a :9

Clips 155, 278,
780-783

1
Find vwhenu =2,a =3 andt=-10

Ve 73

I https://www.mathsgenie.co.uk/pcse-may-
| Substitution

une-2022-foundation-topics.html
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Inequalities

Solve4x —1 > 10

x> il

4

Solvedx —1 =2 2x+ 11

a2 e

a. Represent the following on a number line:

2<x <5
o—®
{ i
5 L4

b.List the mt%ers that satisfy this inequality.

MR artymaths

Clips 265-272

I Inequa[mes

Represent the following on a number line:

=3€2%-1.<57

Quadratic Equations

Solve:

x—Hx+2)=0

Solve:

x2—10x+16=0

NIRRT hegartymaths Sk

X=gq x=-2 (% -8)x-2)= O
XsQ@ X=X
Solve: Solve:
x2—x—6=0 x% =5x+24

(L-3¥x32)=0
Xy yx=-2

234

o -5x- L= O
(X -8)43) =0
x'ﬁ x~‘5

IE.CO.UK/ECSE-Mmay-|Une-2Us -

Solvmg Quadratlcs
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Quadratic Graphs

(a) Complete the table nrvtues for » = ¥ = 21 b.Find the coordinates of the turning point
- ? 1 o § ? )
-8 Ti0.-1i¥ 3 Ci;“i)
{b) Onthe grial, draw the graph of v = 17 — 21 for Lhe values
ofxfrum -2t 3

i0 c.Find theroots of y = x? — 2x

S e = X =Q =2

= d. Find an estimateto x> —2x = 6

o, | ] x = ~{.8

0

i - | hitpsi//www. ie.co.uk/grse-may-june-2022-fi ation-topics.
FOLLOW-UP WORK hegartgmaths Clips 251 https://www.mathsgenie.co.uk/grse-may-june-202 2-foundation-topics. htmil

955 = ] aning Quadratic Graphs

Linear Sequences

Find the next three terms of the following Find the nth term of the following
linear sequences: linear sequences:
24,29,3 ¢ 4,9,14,19,.. SA—1 3,7,11,15,.. An= i
45,51,57  27,33,39,.. OGrrek-| ~10,-4,2,.. 6N —ib
,s,-2  40,33,26,19,.. =FA—+47 9,7,53,.. =N+
Find the 5th term of the following sequences: Determine whether 50 is in the sequence with
nth term 5n + 4. Explain your reasoning.
4n -9 -
Se1 N0 oS N= 464
- Determine whether 59 is in the sequence with
1—-3n nth term 5n + 4. Explain your reasoning.
T -4 ges o3 O s 1l

i - https://www.mathsgeni
JIMIIETIVEYE hegarty mat hs Kl e

10
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Section C: Statistics

Statistics

Diagrams

Pictogram
Bar chart

Stem and {eaf diagram

Pictograms

The pictogram shows the amount of money raised by

four tutor groups.

w Q= £10

s 000000 ¢o
T 000 30

E QOQOCOQODA 2
p O0OUQ 3

(a) Complete the pictogram

{b) How much money was raised in total?

£i70

rouow-ue worx [ICIEINVNEIIE] Clip426

1al

(1]

The pictogram gives information about the mumber of cmails Sams sent oa each of five
dryy Inst week.

voury [ JL 1010

mety ([ JL IO ICIC T

waeetny |[ I JCJCICICI0
mess ([ I JLILICIC 1P

ke N | 0 | N S S B PO

Ry

Work out the mean number of amails Szmi sent oa these 5 dayy

46 .4

| https:/fwww.mathsgenie.co.uk/gcse-

| Pictograms

-june-2022-foundation-topics. html

11
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Pictograms

The pictogmm thows mfonmanon about the number of vimyl records sold 1 1 thop en _]
mmgmmummmmb« of visnd trecedt old 1= 3 1bop om Monday and on Toesdiy,
Y]

Vi and in Taeudn

N N
= K g I

\eotor "/—\ Ty l,’\' N Monday u__.] ),

RPN AN N

NN A o Tuewda: ;-—\.'I I'ﬁ.'l ] e

a h teptewrats v \ | =t 8 vyl records
Torsdey A ) — § vy rrecrd: L= - :

- -

Wedoriday OO 6 Wednesdsy G 4
(O 0O 20 e (OO 00 3z

On Wednrutay sid Thursdsy s total of 36 vyl records were sold
The maisber of teconds sold an Tinasday was § tupes the number of records sold on

On Wednesday and Thursday, » total of 36 viryl records were sold. The number of Wirdnaaday,
records sold on Thursday four mare than the number soid on Wednesday. ® Lze dus information to complete the pictogram.
Complete the pictogram.

FOLLOW-UP WORK hEQaftU maths | 5 .mathsgenie.co.uk/ :se—maw-'une—mzz—faunclatinn-m:cs.html

Ann works in a sandwich shop, The composite bar chart shows us how many cold
The dual bar chart shows Information about the sandwiches sold, drinks were sold in January, February and March.
B - Kev: | (a) How many hot drinks were sold in March? 3\)0
o e N {b) How many cold drinks were sold in February? Z_O Q
« S i {c) How many drinks were sold altogether? -
Froqumcy : — teead |
: : KeY [ Hat deinks
. ] B Cold drinks
H S 200
a |
Tam I'ge Crecwe
0
Nancbw wch
3 %0
More white bread sandwiches were sold than brown bread 5 o
sandwlches. g
300
Work out how many more white bread sandwiches, e
3 109
D, @
(2 marks)

https://www.mat hsgenie.co.uk/grse-may-june-2022-foundation-ta pics. hitmi|

FOLLOW-UP WORK Bar Charts

hegartymaths [T

12
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Stem and Leaf

oy 13\ |¥ 1‘\ o9 1\4 124 1y ﬁ( 12\ S

(a) Complete an ardered siem and leat diagram for this information.
A key has been inciuded.

Kay: 1014 means 104

014 9 .
i1]56. 8
210 © 4 S ¢
37

IS hegartymaths

The number ol peopla visiting a cafe each day, for 11 days, is lisiad below.

complete a Jigsaw.

{a) Write dawn the modal time taken 57 K]
(b) Write down the median time taken. 5"7 4
fe] . Write down the range of times taken Mﬂ 5
(d)  What fraction of the peaple took over one hour? :

4/|S

@

Clips 430-433 |
Bl Stem and Leaf

Questian 5:  The following stem and Waf dlagram shows times taken for 15 people to

th O = O —=

s:ffwww. mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. htm!

Section D:

Ratio, Proportion & Rates of Change

Conversion

Percentages

Ratio

Proportion

Compound Measures

Ratio, proportion, and rates of change (*see Number - some overlap of topic areas)

Length

Percentage of an amount

Percentage increase

Write as a ratio

Share in a ratio

13



20/04/2022

Conversion

Convert the following: Convert the following: —I
25mintocm 250 3mintomm SO0
. -
32cmintomm U . —
|
345cmintom 8,4-8 _ : i A
8 |
2233i8aliasaad aadanians _7///_ e
Convert the following: i i s /,/ S
25kmintom 2500 , ',/ |
A |
1005m into km |+ 009 it i ‘
'] ] 10 15 20 25

a.Change 12 feet into metres 5 & fect
b.Change 25 metres into feet. 52 5
Clips 692- | htps://ww co.uk/gese-may-
NIIENIVIYE hegartymat hs Bl R

Percentages of an amount

Find 32% of 160 Find 2.5% of 140

St 3-S

15% of a number is 30, What is the number? Find 145% of 60

25 © o

Clip 84-86 https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics.html
FOLLOW-UP WORK hega r tg maths K e

14
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Percentage Increase

Increase 40 by 10% Increase 36 by 11%

44- 39.9¢

Working out 153 x 1.005

Working out 153 x 1.03
is the same as increasing by what %?

is the same as increasing by what %?

3/‘ oS e

https://www.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html

hegartymaths (9:2,‘);289'89_1-z| Percentages

Use of Ratio & Ratio as fractions

InY7 there are 40 left handed students and 160 There are red and blue counters in a bag.

; 3
right handed students. 5 Of the counters arered.

Write the ratio of left handed to right handed
students in its simplest form. Write the ratio of red counters to blue counters.

A < 3 2

The ratio of red to blue counters is 3: 1. Write 2: 7 in the form 1:n

What fraction of the counters are blue?

( | 35S

4

hegartg maths ' - | Writilng and Simplifying Ratio

https:/fwww.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. itml
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Sharing in a given ratio

Simplify the ratio

3. 6

14

Ayesha gets £18 more than Nathan. How much does
Jordan get?

Nathan, Ayesha, and Jordan share some
money in the ratio 5 : 18 : 12

SRR heaarty moths R

Divide £78 in this ratio.

18+ 26 1 24

£ (9%

Nathan and Jordan have £105 together. What is the
total amount?

-june-2022-foundation-topics. htmi

Direct Proportion

Here is n list of ingredients for making 10 Flapjacks.

Ingredients for 10 Flapjscks
|20& 80 g rofied cats
%% 60 g butter
46% 30 m/ golden syrup
% 36 g light brown sugar

Work out the amount of cach ingredicnt needed to make 15 Flapjacks.

Clips 339-341, 343-
345, 348, 739-742 |

IS hegartymoths

Here is a list of ingredicnts for making 19 Flapjacks.

lagredients for 18 Flapjacks
80 g rolled cats

60 g butter

30 m/ golden syrup

36 g light brown mugar

If I have:

240g of rolled oats,

150g of butter,

150ml of golden syrup

360g of light brown sugar,

what is the lar gest number of flapjacks I can make?

htt

s://www.mathsgenie.co.uk/gcse-may-june-
Proportion

16
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Density

A piece of wood has a mass of 8g and a volume of 10cm?.
Work out the densily of the wood.

0% qlcm3

Whal Is the volume of a piece of metal that has a mass of 300g and density
of 6g/cm??

50cm?

The mass of 3m* of tin is 21840kg.

(a) Work out the density of tin.

7280 k?[mg

TRl hegartymaths X2

5-729 | https://www.maths

A piece of plastic has a density of 1.3g/cm® and a volume of 100cm?.
Work out the mass of the piece of plastic.

1304

Speed and Density

genie.co.uk/gese-may-june-2022-foundation-topics. html

Speed

A car drives 120 mites in 3 hours.

Calculate the average speed, in mph,°of the car.

40 mph

The distance betwsen two cities is 2898 miles.
The plane journey took & hours.

Calculate the average speed of the plane.

48 dmph

Harry cycles 8 kllometres in 30 minutes.

Calculate his average speed, in km/h.

l6km [

[TV hegartymaths

724

Thomas drove from Junction 2 to Junction 3 on a road.
The distance between the junctions is 12 miles and it takes 15 minutes.

Hannah also drove from Junction 2 to Junction 3 on the same road.
She drove at an average speed of 50 mph.

Who has the faster speed?

Explain your answer, HO(\(\Q‘\ bkd-z-ﬂy)\-

https://www.mathsgenie.co.Uk/gese-may-fune-2022-foundation-topics.html

Speed and Density

17
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Section E: Geometry

Geometry and measures
Shape Reflection
Plan and elevation
: Angles Angles in a polygon
Length, area and volume Volume of a cube
Volume of a cytinder
Pythagoras’s Thearem and Tri Y ‘ Exact trig ic values
Reflection
Ya ¥
—— [ 5 ST h} 1
P { { 13 4
= 3 -4 —4 - JI__ — ! | \
. s \ .___I e B s
| Al | 2
i 1 1 |
| = ]
. | | | | | ¢
5 4 2 2 a0 1 2 3 4 5 x O a7 R SR T
| | | l i
—_— | —_— | 1
Il I N 1 |
[ ] | || f I
| )
-4 Dosenibe fully the single transformation that maps shape A onto shape B
| i N - —
feflock in hne o = |
Reflect triangle A in the y-axis,
Clips 639- tps:/fwww.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html
LIRS hegartymaths B R S

18
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Reflection

|
I S s R I ¢ | 1
| |

]

-

1
.

N\ |
|

5
4

Reflect shape A in the line with equation x = -1

R hegartymaths

T

Clips 639-

A41

Reflect triangle A in the line y =x

https://www.mathsgenie.co.uk/gcse-may-
: Reflections

une-2022-foundation-topics. html

Plans & Elevation

The dusgramn charws & solid madc from cenhmetre cubcy.

[ [Phal [ T T

._i | |

(| | 11 ]
I et

The diagram sbows the plan, front clevation amd side clevation vl a solid shape, drawn on &

centimetre grial

/1

i \
\

N

Hront clevat

n 'udee:\-ll»T\

I

£ 11

In the apace below, draw a sketch of the solid shape.
Give the dunensions of the solid va your sketch.

- https://www.mathsgenie.co.uk/gcse-ma
| Plans and Elevations

~ -

-
B

-lune-2022-foundation-topics.html

19
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Angles in Polygons

The following shapes are regular polygons. Find the value of y.
Find the value of y.

M)

The sum of interior angles of a polygon is 7380°. A regular polygon has an exterior angle of 45°.
How many sides does the polygon have? How many sides does the shape have?

9
43

IR ety ot R

Aregular polygon has an interior angle of 120°.
How many sides does the shape have? (4

. Angles in Polygons

Angles in Polygons

. The diagrun shows 2 bevagon.
ABCDE is a pentagon. The hexagon bas one line of symmctry.

FA = 8C

D

EF = CD
Angle ABC = |IT*
Angle BCD = 2 x angle ABC Angle BCD = 2 x angle CDE IQ’Z—
Wark out the size of AFE.
Work out the size of angle BCD. [ 40 You oo o s oo wodking.
You must show all your working.

i g si//www, ie.co.uk/gcse- -june-2022-foundation-topics.htr
TLATAWEITE hegartymat hs [ SR R ]

20
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Volume

St i 1 3 it o o e Below i3 & cyfinder with rads 2om and height 5am.
5cm
Z_sem  (2Som? 20 &
5cm Om
m::‘wmm Caicutate the volume of tha cytinder.
Give your answers in terms of it

r Below is a cyiinder with diameter Bern and 10¢am

| 8em

i S

I Aem om [EORX
The volume of the cube ia 27am?. z:'y:'“"‘“'rm

https://www.mathsgenie.co.uk/gese-may-june-2022-foundation-topics. html

Find x
Clips 568-569,
FOLLOW-UP WORK hegartgmaths 572-574 _J Volume of a prism; Cylinders

Exact Trigonometric Values

YOU MUST LEARN THESE"!

0°

30°

90°

sin 0
cos 1
tan 0

1
2
V3
2
1

V3

=
G [eim oG 8

SIS heatymaths [TEEEN

| Exact Trig Values

https:f/wwna.mathsgenie.co.uk/gcse-may-june-2022-foundation-topics. html

21
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Section F: Probability

Probability

Probability

| Probability

l frequency tree

Probability

Stevie spins a fair 4-sided spinocr.

)

N

(2) On the probability scale mark with a cross (X) the probability that

the spinncr lands on A,
I ad 1 |
I L3 ] )
0 1 1
3

{B) Weite down the peobability thai the spinacr lmnds on C. 'h_

The probability of Barry winning a Badminton match is %

S /?

Work out the probability that Barry does not win a Badminton match.

{1 mark)

The probability of Timmy winning a Tennis match is 0.7.

Q.3

Work out the probability that Timmy does not win a Tennis match.

(1 mark)

There are 30 pens in a box.
12 of the pens are black. il

7 of the pens are green. / 0
The rest of the pens are red. 3
One of the pens is chosen at random.

Find the probability that the pen is red.

IR hegartymaths

There are red counters, blue counters, yellow counters and green
counters in a bag.

A counter is picked a1 rendom from the hag.

The table shows the probabilities that the counter witl be red. will be
blue and will be yellow.

Colour Red Blue | Yellow Green
Prababiliy | 02 04 | 03 Q.1

‘omplcte the table to show the probability that the counter will be green.
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Frequency Tree

400 pevple were anveyod.
All of th prople wrc either e handed or nght handed
$3 of the praplc are Il haraled

26 mabes arc keft honded.

231 of the prople arc malc

(2} Use this information ta complec the froqoeacy tree.

Make "".Z.._Eh \‘_.
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i1}
Ooc of the eft hunded poople s choven et random

(b) Weite down the probabiliry that this persan is fomale. 12 2‘7/53

ST hegrtymaths R

7 students cither go o a football club or 2 rughry clob at the weekend
Each studkt cather gocs 10 the lub oa Saturday or Sunday.

50 of the students go 1o a football club.

% of the students that go (o a faotball chib pa on Sunday

46 studenti go to their club Sundsy
Usc this mformaticn to complete the frequency e
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